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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Given are four statements followed by four
conclusions. Assuming the statements to be
true even if they seem to be at variance with
commonly known facts, identify which
conclusion(s) definitely follow(s) from the
statements.

Statemenis:
1. Some cats bark.

2. Those who bark do not sleep.
3. Allelephants sleep.

4. Nocatisan elephant.
Conclusions:

[) Some cats do not sleep.

II) Some elephants bark.

Iy Cats who bark are elephants,

IV) Elephants who do not bark are cats,

(A) Onlyconclusion [ follows.

(B) Only conclusions | and I follow.
(C) Only conclusions 11l and IV follow.
(D) Only conclusion Il follows.

Study the following series and identify what
can come in place of 7",

STEM, MFRY, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BOBV

(D) BQAW

LEOGOTHRG

Q1

Q2

UR T+ AN IS 71T 9w frest Ry
;&) fafta = 5 3 w1/ Preed
R g @t @1 fftea w9 @ s
s/ H /8 v @ 2w ey
A s oeat @ = Ef

HE:

1. %o ffeadl died &)
2. i ot € & |l ol &)
3. W el W £

4. = facoh sreft 78 &)

e

N =o ffead o 8 &)

I %o eri die &)

1 it fafeerd’ sfteh & 4 snht &)
V) Sit et offer 78 €, 3 fafveat &)

(A) ®ae Frasd | s wven &)

(B) @ae Fresd | 3R 11 g B &)

(C) ®ae Fremd 111 3% 1V arperor s
g1

(D) ®ae Frepd 111 srgor aven &1

ol e o1 93 ok o &t 5
ywEiaed (‘") @ ®H W @ 6 ue
3mg?

STEM, MFRV, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW
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Q3

Q4

Qs

Study the following series and identify what
can come in place of *?7".

JAM24. LEK28, NII32, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

Study the following series and identify what
can come in place of ‘7",

83, 77, 68, 56, 41,23,?
(A) 2
B) 7
(©) 10
™ 1

Read the following question and decide which
of the additional information given in the
options is required to answer it correctly.

The age of a father and his son is in the ratio
of 13 : 3. Ifthe age of the mother is 33 years,
what is the ratio of the age of the father to
that of the mother?

(A) Thedifference between the ages of the
father and the son is less than the age
of the mother.

(B) The age of the father at the time of
marriage was 17 years.

(C) The average age of the father and son
is more than the average age of the
mother and son.

(D) The average age of the father and
mother on the son’s first birthday was
28 years.

LM-D
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(TOS0ELS

Q4

Qs

fPr=farfrn siaen @1 ug siv s &Y &
vEfEs (‘)@ W™H W #F W 0
3mgm?

JAM24, LEK28, N1132, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

fpfaftm siaa &1 9 3R s 3
WERES (“7) & W O @ e
YT

83. 77.68, 56,41,23,7
(A) 2

®B) 7

©) 10

(D) 11

Pr=fafn v & @@ v PuiRa =
& gwer it o 27 @ fay R |
¥ frn st wun @1 9ww@ B

v fer 3w q= & g 133 & Ay

# &1 af wren & g 33 af @, o R

P A1 H1 AR 6 Y F T A 87

(A) foer 3R q= 9 Iy &1 AR, W
& g A B I

B) faaw @& wwg far 1 ang 27 o
ol |

(C) frar siv w3 @t afrae amg, wmen afiv
qa & alvem g | s B

(D) 73 & ugd W ov fan affv swen
o sivam sy 28 34 o)
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Q6 Read the following question and decide
which of the additional information given in

the options is required to answer it correctly.

A is taller than B, whao is shorter than C.

Who is the tallest person among them?

(A) C isnot the shortest person.
(B) B isnot the tallest person.
(C) Theaverage heightof Cand B isthe
same as the height of A.
(D) Theaverage height of A and B is less
than the height of C.
Q7 Read the following question and decide
which of the additional information given in
the options is required to answer it correctly.

A is the son of B, who is the husband of C.
D is the mother of E and wife of F. How is
B related 1o F?

(A) The mother of D is the mother-in-law
of C.

(B) A and E are cousins.

(C) BistheuncleofE.

(D) A isthe nephew of D.

LM-D
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Fr=fafan v &1 o3 3l Paifa 38 @&
oS T R 31 & fay Aewi 4 |
fa afafe g & aww@ &)

A BR dar 81 B,CH oer &) o @
Ay o B 87

(A) C &a® Ber 18 &)

(B) B wad oar 7&f &)

(C) Caw B & afw\a oag A & dag
® T )

(D) A 3w B shwa dad C A g
G LR ]

fr=ifarfaa s &1 v afr Feifa & %
FU®H He) owR o9 @ fov fawet A A
foa sfofea gaar & Twva 8

ABEG@ERIB,CHT YR EIDERH
R FH N 81 Ba FI &0

i 7

(A) D& =t C &l ¥ 8

B) A3 ESRE (TR, gHe MR,
Wi g /) £

(C) B, E @1 =ren /| /i & |

(D) A, D @1 weltomn /wion /8 |
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Q8  Read the following question and decide which Q8 fr=fefea v & v alv Fuifta &%

of the additional information given in the f& som wft o 9 & fon Rest 4
options is required to answer it correctly, 4 fFu afRe gan & aww 2

Five students, A, B, C, D and E, are standing ufa B3 A, B,C, D 3R E, va dfe #
in & queue such that A, C and E are NOTat,. 9 UHR @3 & & A, C ol E A ue
the extremes. Who is standing at the first -firf Tl | 9 F waw une @ wer @7

position in the queue?

(A) EECH am & afvs A9 de &

(A) Eisahead of C but behind A. (B) A,CH I & &fs D& 09 &)
(B) Aisahead of C but behind D. (C) E facma w1 4 B
(C) Eisexactly in the centre. (D) CH 31 3 vra &)

(D) There are 3 students ahead of C.

Q9  Choose the odd one out. Q9 fAmferfee 9 amim ug @ was Hifti
(A) DVW (A) DVW
(B) GST (B) GST
(C) JPQ (C) IPQ
(D) MNK (D) MNK

Q10 Selectthetermthatcancome inplaceof*?in =~ Q10 |9 T &1 9g+ #Hifow o Pr=ifafea

the following series. Haa ¥ gt (7) & we 9w s
IBY, 6FV, 11JS, 16NP,? IBY, 6FV, 11JS, 16NP, ?

(A) 21QL (A) 2I1QL

(B) 21QM (B) 21QM

(C) 2IRM (C) 21RM

(D) 210N (D) 210N
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Q12

Ifin a code language, TABLE is written as
SYYHZ, how will CHAIR be written in the
same language?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

Qtl

If + implies—

— implies x

< implies +

+implies +,

then select the option that gives the proper
sequence of signs that when filled in the gaps
of the given equation will correctly complete

the same.

6123 5 15=11

(A) +, -+ %
(B) +, - %, +
(C) +, %, —+
D) =+ +=x

‘ LM-D 7

& @ W § 49fe TABLE #1 SYYHZ
feran wren &, o S @ W § CHAIR
@1 @ feran @nem?

{A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

ufg + & aef - 2

— o1 aef x @

x T ) + B

+ 1 o + &,

o 99 Aeey & ugm ¥ fored faest
&1 aftr s geifa 7 & o Ry e
witevo & siovra § W o o ud @
8 QR B

61235 15=11
{"&‘} J"'r % +'r X
[B} +r =" k'l *

{{:) *, :.;l o +
D) - +,+ %
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Q14

Q15

Select the figure that is related to figure C in
the same way as figure B is related to figure

A
. n 2y r' M
- H _ - . ol
Al i)

i<l

: ?

o
® la o

(B)

'Ol [00] |20

09 |00 |00

'V O

(D)

Identify the odd one from the given list.

Ignore, Avoid, Recognise, Reject, Neglect,
Overlook, Overpass, Forget, Disregard
(A) Recognise

(B) Owerlook

(C) Overpass

(D) Disregard

Identify the odd one from the given list.

Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar

(A) Jodhpur

(B) Chhatarpur

(C) Chittorgarh

(D) Pushkar

LM-D
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Q14

Q15

99 AFia T 99 I s s C
¥ a¢l vy & o Y B & g AR

Bl

o9 o0, .
ng'l- ; ng'?
LA [1: 1]

i
(A)

I ©

(B)

1Ol 109 |2

00| |00l |00

(©)

'\ O

(D)

frsferfa wal & el 3 9 fivs o
T U B |

FN B, 9RER, TEErT, adeR,
T, el Jfig—far, e, srdan
(A) UEE

(B) e

(C) Ta—fogrn

(D) @Il

faforfta w= # @ B @1 a9 &%)

TR, GIEYR, GIER, SONYY, AOR,
dierR, fadtene, e, @, g

(A) STy

(B) BTRGR
(C) Fedieme

(D) g=¢
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Q16 The following diagram is the outcome of a

Q17

survey carried out for the number of
languages that can be spoken by the
employees in a particular department of a
company. Study the diagram and identify the
option that is NOT correct.

English Hindi

2
R/

Marathi

(A) The total number of employees who
responded to the survey was 54,

(B) 30employees can speak Hindi.

(C) 30 employees cannot speak Marathi,

(D) 23 employees can speak exactly two
languages.

Two positions of a dice are shown. If 1" is
exactly opposite *5’, then which number will
be exactly opposite *2'7

g2/ :
@

(A) 3
B) 4
(C) §
D) 6

Ql6 F=fafs e ta oo @ e fadw

e Rl gra A o o
W @ Hen @ e R v wdee @
qitom 8 | IRE &7 3Ega &Y o 99
ey &1 wggm & W Tea #)

(A) wdeor % 9T A9 i Sdaiat A
Wl HE 547

(B) 30 odard D 4 woa &)

(C) 30 Fard st 8 a9 wwa #)

(D) 23 ¥ard Sad <1 Il A THA
#)

& i 9 Rufeet ool o &) ol
S e Rl g a2 @ &
faorfia & & we =efi?

(A) 3
(B) 4

(C) 5
(D) 6

013N
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Q18

Q19

John started from point A and walked 12km
towards the east, turned left and walked
another 5 km to reach point B. George also
started from point A but walked 3 km
towards the south, turned left and walked
another 18 km 1o reach point B. What is the
shortest distance between points A and B?
(A) 6km

(B) 8km

(C) 10km

(D) l4km

Given is a statement followed by two
conclusions. Identify which of the given
conclusions logically follow(s) from the
statement.

Statement:

During election period, politicians usually hurl
abuses at candidates of other parties and
some often make vulgar gestures t0o.

Conclusion:

) Women and children should not be
allowed to attend election rallies.
Election Commission should issuesa
strict code of conduct for all politicians.

]

(A) Onlyconclusion | follows.

(B) Only conclusion Il follows.

(C) Either conclusion | or Il follows.
(D) Neither conclusion | nor Il follows.

LM-D
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Q18

Q19

LOZEG LGS

Wi fig A® fifg B v ufe & fow @
) AR 12 km goen & o 5w ol e
@Y 5 km 3R woren ) offo 0 fag A9
fig B R Uge @ f&U 3 km 2o 1 3
gl &, oY a1 3N 5@ &Y 18 km 3
w8 | fig Asfe B@ dre =pom g
farerit &7
(A) 6km
(B) 8km
(C) 10km
(D) 14km

TF oy AR IR Hafta @ fFre Ry
g &) Peife =t & am /9 Fed
aifehe w9 | By MU FeE &1 FE
Tl /a0 8/8)

S

g & A, aorife o= el @
w3 & ferg araere) @1 gwrTe @Y
% o mw ot aftre waa N w E

forsad:

N wigewid 7 a= & gd Wl d
wite €9 A s T8 @ S
ey |

) g/ JEE & W e @
foiv HER arar Wik @] A
a1fey |

(A) Pact sl | AFHWT B 8

(B) @ac Frepd 11 agavor s § |

(C) @ o Frswd | ar Fresd 11 s
& &

(@) = @ Fresd 13he 71 & Fresd 11

T Bl |

SERIES-D-E




Q20 Select the option that is a valid assumption
for the following statement.

Q21

Statement:

Despite a clear warning from the doctor,
Ramesh, who is a diabetic patient, ate ice
cream at the wedding of his friend.

(A) The friend does not like Ramesh much.

(B) The doctor does not like ice cream.

(C) lcecream is not good for Ramesh's
health.

(D) Diabetes patients do not like doctors.

A statement and two courses of action are
given. Select the option that is a valid course
of action for the given statement.

Statement:

Due to the planned transport strike, there will
be a shortage of vegetables in the market and
also prices may go up.

Courses of Action:

. Govemment should try to negotiate with
the transport association to cancel the
strike.

Il. Shoppers must buy and store some
extra vegetables beforehand.

(A) Onlyactionl

(B) Only action II

(C) Bothactions | and Il
(D) Neither action ] nor 1l

LM-D
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Q20 U¥ fawey @1 wa= Fifee o Fafafaa

Q21

HU & forg &g awon 8

e

Sley I W yaE-l & qEeE W, Wl
i TrE &1 i 8 S I P @
faa® & s W sgEsm |

(A) B3 o o I THe 78 s
gl

(B) SiaeY &1 AZEHH U6 781 8|

(C) WEwdW Y & ey & forg arsh)
8 B

(D) e & ¥t Seed 1 yHg 6
e B

TS HU 3R 9uP T 1 srdafgdt §
T8 # | 99 fawen @ 73w WY @ Ry 1y
e @ o W erdad )

YU
Fraifta oRas ssara & s, aaw §
wfesral @ #8 8 omeh o e W 99
Y |

HrdaE:

. WER & yRaga §9 | gsod
e a6 @ fog @ 60 Tifgy )

Il. THFER & e 9 @ afiRem
wfesd @l v WeiRa & o
a1y |

(A) Taa HdaE |

(B) ®ad a1l

(C) ®wiard! 19 11 2F1

D) 5 o s 1R a @0
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Q22 W Visible :: Eyes, then Audible :: 7.
Identify what can come in place of *7°.
(A) Brmin
(B) Nose
(C) Heart
(D) Ears

Q23 IfBook :: Author, then Song :: 7.
Identify what can come in place of *7".
(A) Script Writer
(B) Lyricist
(C) Director
(D) Producer

Q24 Inacertain coded language, if COPPER is
written as CISP16EI8 and SULFUR is
written as S21L6U | 8, then how will the word
SODIUM be written?
(A) SI5D9U21
(B) S19D4U21
(C) SISDSUI3
(D) SISD2IMI3

Q25 Pointing atachild performing on the stage, a
man in the audience said, “He is the brother
of the daughter of Shilpa, who is the
daughter-in-law of the mother-in-law of the
mother of my son.” If the man is NOT the
husband of Shilpa, how is he related to the
father of that child on the stage?
(A) Uncle
(B) Nephew
(C) Grandfather
(D) Brother

LM-D
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Q22

Q23

Q24

Q25

afe i+ : and, ot s 7

a & & gefaea (7)) $ R W
ERIE

(A) wita=s

(B) &

(C) &9

(D) &H

afe gwe ;: @, o M ?|

g w6 wefaes (7)) @ WE W
T SIS |

(A) TToul G

(B) @R

(C) FRo=®

(D) Freife

v% faftre e W %, af¥ COPPER &1
C15P16E18 forar wren & afiw SULFUR
F S21L6U18 formm o &, o e
SODIUM &1 @9 feraar smmen?

(A) S15D9U2I

(B) S19D4U2]

(C) S15D9U13

(D) S1SD21MI13

Y ¥ WEEE oY W TS e ) AR
s Fw gy aviel 4 @ uw @fdn A
o], a8 firem # g @ aig &) Rrew
R g A A A ww A ag kAR
afea R & afy 1l &, o sww wa
R HoE 7= @ o | a2 waw 87
(A) =mEn /| / W

(B) it/ #ie

(C) =m=1

(D) g
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Q26

Q27

Q28

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

India has signed an MoU in April 2019 with
the National Bank for Agriculture and Rural
Development Consultancy Service
(NABCONS) for setting up the India-Africa
Institute of Agriculture and Rural
Development (IAIARD) in which country?
(A) Zambia

(B) Malawi

(C) Tanzania

(D) Kenya

In 2018-19, for the second successive year,
which state has been ranked first in e-
learning training programme of the
Department of Personal and Training
(DoPT) of the Government of India?

(A) Tamil Nadu

(B) Kamataka

(C) Telangana

(D) Kerala

Uttar Pradesh Diwas is celebrated on which
of the following dates?

(A) 25" March

(B) 2%April

(C) 10*April

(D) 24" January

LM-D
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Q26 WR® A @ a0 § ARl o iR

Q27

Q28

iy fere SR (IAIARD) & wig=)
& forg Ave o vt viteeay v W
Suewie puced widw (NABCONS)
& | Al 2019 # wwshan soa W
TR fay 87

(A) anfraan

(B) W

(C) ehanf=an

(D) =M

2018-19 % FmaR g af @ fog, fvw
Y B WG WHR D Hife vd uflteror
fmr (DoPT) & —aftm widwror srdwm
% ugen wA far mar @2

(A) affrerrg

(B) @Fle®

(C) S

(D) #%A

o wey fRow fFrafafea § 4w
arfia & e wen 87

(A) 25 wrd

(B) 23

(C) 10ada

(D) 24 Sr7adt
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Q29

Q30

Q31

LM-D

Asof March 2019, which is the third-largest
bank in India?

(A) Indian Bank

(B) Bankof Baroda

(C) ICICI Bank

(D) Canara Bank

Reliance Mutual Fund has partnered with
which of the following companies to launch
voice-based financial transactions?

(A) IBM

(B) Accenture

(C) Google

(D) Infosys

As of March 2019, what is common to

these four countries — South Sudan, Libya, 5

Yemen and Greece?

(A) Allare African countries

(B) Allare monarchies

(C) All are Mediterranean countries
(D) Allofthem have had an average

10-year negative economic growth

Q29 #rd 2019 UH, SUHE WHS & FTER

HRG &1 draw gad 181 §@ @ W 87
(A) 37 =

(B) & 3w aIa

(C) angwamgang ¥

(D) @ &

Rera =Eye w8 A Fafafea 4 9
f&w st & wm amara—smanfa e
e g6 oo B oy w87
(A) IBM

(B) Accenture

(C) Google

(D) Infosys

urH 2019 T%, IUAE TSI B ITAR

¥ 9r <9l — S e, iRk, o

v fra - & F=fafa 4 @ o9 @

A W 87

(A) & anfia dwr @

(B) w4t vroreiA #

(C) ¥t sppezrarrdia dwr §

(D) 37 i # afrwa 10w @
Feres anflde iy g @
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Q32

Q33

Q34

In April 2019, Reliance Jio acquired the
chatbot-making startup firm Haptik for:

(A) T 700 crore

(B) T 500 crore

(C) ¥ 600 crore

(D) T 400 crore

International Centre for Automotive
Technology (ICAT) is scheduled to organise
NuGen Mobility Summit 2019 in November
at which of the following locations?

(A) Mumbai

(B) Manesar

(C) Bengaluru

(D) Chennai

Which of the following companies owns the
video app TikTok?

(A) OpenXeel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps

LM-D
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sl 2019 4 Rowe e 3 o
g A fdedie T Al wrdsy wid
Haptik &1 arférer faar

(A) T 700 #9018

(B) T 500 #vr

(C) T 600 TS

(D) T 400 TS

FeTE Her B dfcmifea eaatch
(ICAT) saa% § =g+ (NuGen) "ifaferdy
firar e 2019 Freafafea F @ e
W UR AR B arelt &7

(A) Had

(B) #rw

(C) ¥Tge
(D) ¥1%

Freifeflea & 9 219 & $h dfza Oy
Tik Tok &7 Tafiea v &7

(A) OpenXcel

(B) Consagous Technologies
(C) ByteDance
(D) RipenApps
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Q3s

Q36

Q37

In April 2019, the UAE honoured who
among the following with the prestigious
Zayed Medal for giving a big boost 1o
bilateral strategic ties?

{A) Imran Khan

(B) Theresa May

(C) Emmanuel Macron

(D) Narendra Modi

Who among the following has become the
first transgender election ambassador in
India?

(A) Gauri Sawant

(B) Sathyasri Sharmila

(C) Joyita Mondal

(D) Prithika Yashini

Asof April 2019, which country holds the
top spot in the latest FIFA world football
rankings?

(A) England

(B) Belgium

(C) Germany

(D) Austria
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Q35 frafafaa # &t A UAE gm1 alia

Q36

Q37

2019 9, fgueha wriifte H@edl & o
qg@ ¢4 & fog wiafsa ome wwe @
ary wefa fasar

(A) A W

(B) e A

(C) ghue #uml

(D) Y= il

Ffcailea 39 FF wRa 6 ueel et
A1 Weiga &1 87

(A) 9 wEa

(B) weah wfifen

(C) i wsa

(D) ot AR

i 2019 T, IUTE TFFN B IFTAR
Fafafea 4 4 @9 W 0 Gdf=5an
T R gedle T i gEd vor o
#?

(A) §7Is

(B) dfeuram

(C) Wl

(D) iRz
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Q38

Q39

As of April 2019, who is the President of
the Confederation of Indian Industry (CIT)?
(A) Kumar Mangalam Birla

(B) Ashok Hinduja

(C) Vikram Kirloskar

(D) Rajiv Bajaj

As of April 2019, who is the Chancellor of
Tamil Nadu Agricultural University
(TNAU)?

(A) Trilochan Mohapatra

(B) Ajay Kumar Singh

(C) Sachin Wadhwa

(D) Banwarilal Purohit

As of July 2019, who is the Union Minister
for Agriculture and Farmers Welfare?

(A) Narendra Singh Tomar

(B) Harsh Vardhan

(C) Anant Geete

(D) RadhaMohan Singh
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Q38

Q39

S 2019 7%, IV TSN S ITAR
wredia sev oRe (C) & wee o
.14

(A) TR Frem fawen

®) 3 fEgon

() famm fareen

(D) ot aorTa

il 2019 0 SUTE TR B HH,
aﬁ?ﬂtng 7t RyaReeg (TNAU) @
gty w8

(A) Faares e

(B) 3o AR Ris

(C) wfte amar

(D) #FarieTs gk

G 2019 T, ITAR AFHIY B FTAR
Fd Pt 3l Rwm Tw = Pm
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(A) % fig a9

B) & w

(C) ariar My
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Q41

Q43

Which of the following countries is the largest
producer of wheat in the world?

(A) France

(B) China

(C) Australia

(D) Canada

The Keetham Lake and Sur Sarovar Bird
Sanctuary are located near which of these
cities?

(A) Jhansi

(B) Kanpur

(C) Lucknow

(D) Agra

Which city of India is home to the famous
Falaknuma Palace?

(A) Jhansi

(B) Gwalior

(C) Jaipur

(D) Hyderabad

LM-D

18

Q41

Q42

SRIvPIES

Prferfias 4 @ @ @ 2w fwa #§ 9
o1 wad 981 Iees au 87

(A) W

B) 9

(C) sl

(D) =TSt

frem $ia e v v e sprrea
f=fafes B wee & gw Rua 87
(A) S
(B) TR
(C) aETH

(D)

aNa & @ W uER ufhg wesT
o & W ¥7

(A) =¥

(B) e

(C) wage

(D) BavmmE
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Q44

Q45

Q46

Which state police has its motto as
‘Suraksha-Apki-Sankalp-Hamara'? It
means *Your Security Our Resolution’,

(A) Odisha Police

(B) Rajasthan Police

(C) Uttar Pradesh Police

(I3) Haryana Police

In the mobile technology series of 3G, 4G
and 5G, what does the letter G stand for?
(A) Gap

(B) Gigabits

(C) Gateway

(D) Generation

Name the ex-South African player who is
currently the head coach of the Royal
Challengers Bangalore (RCB) cricket team
for the 2019 season.

(A) AB De Villiers

(B) GaryKirsten

(C) Adrian Dale

(D) HashimAmla

LM-D

Q44

Q46

Freifafaa # @ fra v @ gfew @
HEW qTE B HE-AUE-HEH oI
BHRI? H®T 3 & ua) e sun
ame #

(A) snfeen gfera

(B) wrarer gfera

(C) weR v gfers

(D) sRawn giew

3G, 4G 3R 5G # Hrarg T s
i G &1 Fa 3] gwr &7

(A) g

(B) Frmfae

(C) red

(D) S

aféfor anfleT & oW o faad & a
am & oit w2019 dom B ferg
{iua ddod #9R (RCB) fde &m
w1 @ Prg 87

(A) . < faforast

(B) T s

(C) ufgas &=

(D) &M sprer
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Q47 Indian Railway Minister Piyush Goyalhas Q47 #IRdiR ¥ %4 fign viaa 3 yea w9 @

announced a new railway zone to primarily

cater to Andhra Pradesh. What is the name

of this railway zone?
(A) Southern Coast Railway Zone

(B) Rayaiseema Railway Zone

(C) Coromandal Coast Railway Zone

(D) Seemandhra Railway Zone

Q48 Ikhlas Khan's Roza (mausoleum) is situated Q48

in which district of Uttar Pradesh?
(A) Meerut

(B) Saharanpur

(C) Jhansi

(D) Budan

Q49 What is the full form of RFP, which is used Q49

in the context of an RFP document in the IT

sector?
(A) Request for Proposal
(B) Request for Petition

(C) Reguest for Process
(D) Register Formal Process

LM-D

IR vew 3 fag e v @ o o
o @t 8| 39 YA O @ W @
.14

(A) =frh ae Yo wE

(B) wEadrm Y@ oim

(C) ®RFea e Wa &

(D) i ¥ S

TR WM &1 Ao (W) IR gey
@ F=fafea e o F fee 87
(A) E

(B) WEAYN
(C) s

(D) T=

RFP &1 Q31 14 a1 &, Rresr swivn IT
Hgex § RFP & & wWel # fym
o 87

(A) Reve i wdo

(B) Retwe viv 9ftwm

(C) R vl Widw

(D) e wifa We
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Q50

Q51

Q52

Q53

Watson computer i a product of which of
the following companies?

(A) Microsoft

(B) IBM

(C) Google

) Del

Kevin Systrom and Mike Krieger are the
founders of which of the following?

(A) WhatsApp

(B) Twitter

(C) Instagram
(D) Linkedin

Who among the following established the
Banaras Hindu University?

(A) Rabindranath Tagore

(B) Ganesh Shankar Vidyarthi

(C) Govind Ballabh Pant

(D) Madan Mohan Malviya

Where is the Bara Imambara monument
situated?

(A) Lucknow

(B) Varanasi

(C) Kanpur

(D) Prayagraj (Allahabad)
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Q53

dfewm Fgev Prefafea 3 | fa B
%7 Hisae &7

(A) Microsoft

(B) IBM

(C) Google

(D) Dell

@A R IR 7 fem Preafafte
i 9 frae wwus 7

(A) WhatsApp

(B) Twitter

(C) Instagram

(D) Linkedin

wavn g Rafamay @) wn
frefafem & & s 17

(A) Mz 2R

(B) e wiew faemdi

(C) "= ¥oom ga

(D) #& Aiew Mad

Y FAATST WING T o &7
(A) TETH

(B) AT

(C) TR

(D) WAFRI (FETERIS)



Q54 Who among the following was popularly

Q35

Q56

Q57

referred to as the Sher-e-Ballia?
(A) BhagatSingh

(B) Chandrasekar Azad

(C) Chittu Pandey

(D) Mangal Pandey

Who was the Samajwadi Party (SP)
candidate from Lucknow contesting against
Rajnath Singh in Lok Sabha Elections 20197
(A) Suresh Bansal

(B) PurviVerma

(C) Usha Verma

(D) Poonam Sinha

The Parichha Dam in the state of Uttar
Pradesh is built across which river?

(A) Sharda

(B) Chambal

(C) Betwa

(D) Ghaghara

Uttar Pradesh was earlier known as United
Provinces, In which year was it named as
Uttar Pradesh?

(A) 1947

(B) 1951

(€) 1950

(D) 1948
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Q54

Q55

Q36

Q57

fFrefafaa 4 @ 5 fe-v—afom &
AW H A AR ar?

(A) W fhe

(B) T WWIE

(©) Forg wid

(D) el uig

ST 1 2019 # WS | e
fie & faaw wnoad adl (@) @
Feiear Frefafea 4 4 @ ar?

(A) g9 6

(B) i @i

(C) &t @i

(D) T R

g weyr o # gfor anr e @ 0w
o a4 &7

(A) ==y

(B) e

(C)

(D) =Ry

IR We¥ P UEH Gy wia @ w9 §
T S or | g9 s ad aee yde @
A R ran en?

(A) 1947

(B) 1951

(C) 1950

(D) 1948
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Q58

Q59

Q60

Q61

Who was the first Governor of Uttar
Pradesh after it got renamed as Uttar
Pradesh from United Provinces?

(A) \r‘am]'lagiri:f’f:nkala{]iri

(B) Hormasji Peroshaw Mody

(C) Biswanath Das

(D) AkbarAli Khan

In which yeardid the first large-scale mutiny
by Indian soldiers against the British, the
Vellore Mutiny, take place?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

In which year did East India Company sign
the First Treaty of Amritsar with Ranjit
Singh?

(A) 1800

(B) 1805

(C) 1806

(D) 1809

The Brahmo Samaj was established in 1828
by:

(A) RajaRam Mohan Roy

(B) SwamiDayanand Saraswati

(C) KeshabChandra Sen

(D) Swami Vivekananda
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Q58 Wgad Uit | OTW We¥ b w9 H AW

Q59

Q60

Q61

qad & 918 9T UoY &1 Usdl eadid
B or?

(A) iR dae MR

(B) gl farens Wil

(C) Ry g9

(D) 3av el @

il @ fegems Wty @i g ggan
72 i ue s, doo faste frw ad
BT ar?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

frw o % € gfear w3 i fis
@ R IYAER P UEel G 0 R
ferg?

(A) 1800

(B) 1805

(C) 1806

(D) 1809

1828 ¥ wEr warar 9 e e

i A fwd grr @ g o
(A) oI ¥ HES U
(B) w@mil gag avwE
(C) @9 9w ¥+

(D) @l fawrEg
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Q62  Inwhich year did the first passenger train in

Q63

Q65

India run from Bombay (now Chattrapati
Shivaji Maharaj Terminus) to Thane?

(A) 1835

(B) 1825

(C) 1853
(D) 1840

In which of the following locations was the
first post office in India established by the
British East India Company in 17647

(A) Hikkim

(B) Pune

(C) Madras (now Chennai)

(D) Bombay (now Mumbai)

Morley-Minto Reforms, formulated by John
Morley, were enacted in which of the
following years?

(A) 1909

®) 1920

(C) 1895

©) 1897

Who was the first person to address
Mahatma Gandhi as the ‘Father of the
Nation'?

(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhas Chandra Bose

(D) Lala Lajpat Rai

Q62

Q63

Q65

wag (dr4; am ol Rach =R
=ff) 9 uF o wRa A geed o 29
fra ad sl o7

(A) 1835

(B) 1825

(C) 1853

(D) 1840

1764 % fafew dxe S woh gy wnfda
WA &1 U8l o1 W Freafafag § @
fra o v ar?

(A) fefarm

(B) o
(C) werd (3@ ¥%)
(D) A (@ Had)

oA e g™ daw s T Ad-fiey
qur, Prafafes & | frw v 4§
sffrafa e

(A) 1909

B) 1920

(C) 1895

(D) 1897

e TR B W sEew waf
& A ged afde @ &7

(A) WY& T

(B) WA A AES

(C) @ are
(D) WA SN Y
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Q66

Q69

In which state is the Eravikulam National
Park situated?

(A) Kamataka

(B) Assam

(C) Kerala

(D) Andhra Pradesh

Which of the following is NOT abiotic?
(A) Water

(B) Soil

(€) Ar

(D) Fungi

g
ManﬂH.whichmhyisﬂmlmdingS Q68

producer of tin in the world?
(A) China
(B) Beuzil

(C) Malaysia
(D) Vietnam

In which district of Tamil Nadu is one of the
oldest dams, Grand Anicut, also known as
Kallanai, located?

(A) Madumi

(B) Tiruchirappalli

(C) Erode

(D) Coimbatore
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Q66 FWRTaw Usia S fw W i ferm

.14

(A) Fles
(B) arem
(€) v
(D) 3w w2w

Prefafs ¥ @ 2% W srdfe Wy &2
(A) wFit

®) F@
(C) &
D) sa®

o 2014 T, YT AEBE D FTHR,
Frfafta % @ 2 w R 3 9 &
I Seree I &2

(A) o3

(B) wrfie

(©) et

(D) Ram=m

aftererg 3 B Rt sooed 3
W S 9 e fe g @i, o )
e qe dwt F W o 8 e &2
(A) "R

(B) frofRsh

©) W=

(D) wriagy
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Q70 As of 2012, which country is the largest

Q7

Q72

Q73

producer of bauxite in the world?
(A) Brazil

(B) India

(C) Australia

(D) Indonesia

Which of the following rivers is also known
as Uttara Pinakini?

(A) Cauvery

(B) Brahmani

(C) Vaigai

(D) Pennar

The culture or cultivation of grapes is called:
(A) Viticulture

(B) Pisciculture

(C) Sericulture

(D) Horticulture

Khadar and Bhangar are types of which of

the following soils?
(A) Black

(B) Alkval

(C) Red

(D) Laterite
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af 2012 7%, SUTE TS H FTAR
fawa & divarge B AN T TAES 29
T4 W 87

(A) wreite

(B) A

(C) sifegferan

(D) geMfrn

Prafafaa 4 9 o & =8 aw A
& 91 ¥ A arh orh 27

(A) ®ad

®) amri

(C) &

(D) 9=IR

I A Af FE @ o wwE B
frforftra % | 5w am @ S o
2?

(A) fdTer

(B) efrwEr

(C) ¥ideav

(D) #ifeweat

wreY v #ir Prefafaa 4 @ fFa
R @ gy #7

(A) FIch

(B) weia

(C) ©e

(D) AeTwE
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Q74

Q75

In which country is the Tanami Desert
located?

(A) China

(B) SouthAfrica

(C) Australia

(D) India

As of March 2019, how many fundamental
duties are there in the Indian constitution?
(A) 6
®) 7
() 9
(D) 11
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Q74 TPl Y Prafafaa 4 @ faw 2w

Q75

i feerm &7

(A) &

(B) afor st
(C) sifesiferan

(D) W

H1Y 2019 T, IUSTE WD B TR
e wftar i s e oda &
(A) 6
B) 7
(€) 9

D) 11
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Q76

Q77

Q78

Q79

LM-D

SECTION-3 | GENERAL SCIENCE /ARITHMETIC | 50 QUESTIONS

If the volume of a hemisphere is 18 7 cm’,
then the total surface area of the hemisphere
[

(A) 27 x cm?

(B) 18 cm?

(C) 247 cm?®

(D) 21 7 cm?

Let ‘a’ and b’ be two numbers. The HCF
of ‘a’ and *b’ is 4 and the LCM of ‘a’ and
‘b’ is 400. Then, the number of the pairs of
values ‘a’ and ‘b’ can assume is:

(A) 3

B) 4

€ 2

o1

Tap A and B can fill an empty tank in 30
minutes and 60 minutes respectively. TapC
can empty the full tank in 45 minutes. If all
the three taps are opened together, then the
time required to fill the empty tank will be:
(A) 18minutes
(B) 36 minutes
(C) 24 minutes
(D) 30minutes

A and B can complete a task in 60 days and
90 days respectively. With the help of C,
they completed the task in 20 days. If their
total eaming is T 36,000, then considering
that their earnings are in proportion to their
work, the share of C will be:

(A) T 16,000

(B) 713,600

(C) T 15,400

(D) T 14,300

Q76 4Rt & & MA o FWeA 187 cm’ R,

Q77

5 o

28

Q79

A 99 3 A @ HA Gl SAGA
e g
(A) 27 x cm?
(B) 187 cm?
(C©) 247 em?
(D) 21 x cm’

& ‘a’ 3R b’ &) weard §) ‘2’ AR b
F1 #ead wNvads 4 8 R agem
wAEaE 400 8| @ 2’ W b’ B TR
F w@ o a9 F 8w 87
(A) 3

®) 4

(C€) 2

o 1

Td AR BU@ wiell e 3 HAe 30
firme aie 60 e 3 sR W #)1 a8 C
@ w5 < A 45 frre o el
woar & | aft §E1 9 @ ae Ee R
£ o @e A @ WA A o A
wam?

(A) 18 e

B) 36 fiFe

(C) 24 fime

(D) 30 e

A 3R B e w1 @ w60 T sl
90 fa=it # g #v W 1 C B wEEm
¥, o 59 o1 B 20 R @R
forn| af? oo @@ @ T 36,000 &,
i 7% 3w gy 5 o g S I
& aqura # 8, C @1 e R g
(A) T 16,000
(B) T 13,600
(C) T 15,400
(D) 2 14,800
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QB0  Shilpatravelled at a speed of 20 kmvh for 3

Q81

Q82

hours and an equal distance further at a

speed of 15 kmvh. The average speed of
Shilpa (in kmvh) is:

I
(A) ITI"2

1
B 1735

|
© 165

1
(D) 163

In APOR, 20 =90". A, B and C are the
midpointsof PO, OR and PR respectively,
Then, which of the following statements is
TRUE?

(A) P4, Band Care concyclic points
(B) R, B. A and C are concyclic points
(C) Q@ A Cand Bare concyclic points
(D) Allofthe given options

If & *® is the measure of an angle which is
equal to its complement and ° is the
measure of an angle which is equal to its

supplement, then %h
(A) 3

® 1

(C) 2

(D) 0.5
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Q80 frewr A 3 wel & frw 20 km/h @) wfy |

Q81

3 T & s g 1S knvh B 1y
W g far) R & stea 7Y (kvh
#) W

|
(A) l?;
|
(B) l?:?'
1
() lﬁ':_;

1
@) 163

APOR ¥, £0=90° % | 4, B3R C
PO,OR ¥R PR @ wen fig €| &
Frafafa 4 @ @59 @ =om 9@ &

(A) P.A, B3R Cyagein fifg &
(B) R B A 3R Cywgeim fig &

(C) QA C3lR Byzgy fig &
(D) fav 7 wi R

MR q° @ IO T A9 B O FES
TS & AT & 3 ge va @ @
9§ Gl gD IEe @ v #, o
%mm’!l

(A) 3
® 1
(€) 2
(D) 0.5
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(83 Ramesh sold a box at 10% profit to Suresh.
Suresh sold it to Ganesh at 20% profit. If
Suresh’s profit is ¥ 44, then the cost price
of the box for Ramesh is:

(A) T 200
(B) T 150
(C) T 100
(D) T 250

(84 Mahesh had x number of trees in the year
2011. Every year, due to new plantation, the
number increased by 10%. In which year
will the number of trees become at least 50%
more than that in 2011, for the first time?
(A) 2017
(B) 2016
(C) 2015
(D) 2014

Q85 A moneyamountsto¥4,200in 3 years and
10 ¥ 6,000 in 6 years at simple interest. The
rate of interest is:

(A) 20%

]
(B) 125%

(€) 30%
D) 25%

Q86 For the first 567 natural numbers, the
arithmetic mean will be:
(A) 2835
(B) 284
(C) 2845
(D) 283

LM-D
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Q83 T A UH aw 10% @M G GW @
& | W A §W 20% 0 A e @
¥ ) aft o A 44 1 am Ak
fomm o v @ fo 59 9 @1 B9
fron 87
(A) T 200
B) T 150
(C) T 100
(D) T 250

Q84 = 2011 % WY F U x U2 9| WAF
o, Y JEROV & PR, 9 wem A
10% 1 gfes €1 el & | @1 gl ar fw
g % 2011 @ e § U1 B Hwn &
[ &9 50% yifovw 8 wed?
(A) 2017
(B) 2016
(C) 2015
(D) 2014

Q85 U LRI MRV & &Y u¥ 3ad A
742003 6ad § T 6,000 8 Treh B
a1 g2 foh &2
(A) 20%

|
(B) EZE%
(C) 30%
®) 25%

Q86 usHl 567 Wipfa® HWEARIT H FARR
wre fasen e
(A) 283.5

(B) 284
(C) 2845

(D) 283
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Q87

Q88

Q89

A cone has its base radius as 7 cm and slant
heightas 25 cm. The volume of the cone will
be:

(A) 1232 em’

(B) 3696cm’

(C) 1864 cm’

(D) 2464 ¢cm’

Out the following numbers, which one is
NOT a perfect square?

(A) 3136

(B) 12544

(C) 1296

(D) 23832

The decimal expression for 8 rupees 8 paise
[N

(A) 88.0

(B) 8.008

(C) 8.08

(D) 8.8

In the product of the first 35 even natural
numbers, the digit at the ten’s place is:

(A) 2

(B) 6

C) 5

(D) 0

Out of the following, which is the greatest?

(A) (49}5
® 7

© 017

® (55)
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Q87

Q88

Q89

Q91

UF g @ SR B o 7 em s
fiwdh Sur (wfe &1ge) 25 em &) viw
&1 e foen s

(A) 1232 e’

(B) 3696cm’

(C) 1864 cm’

(D) 2464 cm’

Preffe wiearsit 4 @ @ @ v
W@ ol i ¥

{A) 3136

(B) 12544

(©) 1296

) 23832

8 ¥l 8 9 = Twl @ fav qemea
afefd w wef?

(A) 88.0

(B) 8.008

(C) 8.08

(D) 88

B! 35 W Wiple weanil @ UEee
¥ TEE B W W P W3 g
(A) 2
®) 6
© 5
D o

fforfea # 9 9 @ v v @
87

A 49y
®B) 7

©) (2401}:4"

(56
(D) ﬁ]

SERIES-D-E



@t W

=

®rr e

Q93

Q95

1f2* x 5*ends in 5, then the value of x is:
(A) 1

{B) 0

© 2

(D) Novalueofx

The LCM of two co-primes ( aand b ) is:
(A) a-b

(B) a+b

(C) alb

(D) ab

The difference between a number and the
two-fourth of that number is 60. What is the
number?
(A) 120
(B) 125
(C) 130
(D) 160

IfA:B=3:7andB:C=7:9,thenA:C
isequal to:
(A) 3:7
B) 2:3
() 3:1
) 1:3

X takes 8 hours 1o complete a task. Y takes
12 hours to complete the same task. How
long would it take both X and Y, working

together but independently, tocomplete the
same task?

(A) 4days
(B) 4%&)'!

5
(C) 47 days
(D) 5days

LM-D
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R xS DA SN E Mad
A fer grn?

(A) 1

(B) 0

©) 2

D) x % & "= T8 B

Y BN et (o 3N b) B |
wad® @ gm?

(A) a-b

B) a+b

(C) alb

(D) ab

0 e iR owd - @ @
1 3N 60 8| wem w7 &7

(A) 120

®) 125

(C) 130

(D) 160

gt A:B=3:73RB:C=7:98. @
A:C & auaw 2

(A) 3:7

®B) 2:3

() 3:)

o 1:3

5 am @ W e @ g XS s
FREI MBI maa @ ey
B 1262 & § | o W B W@ aE
% farg X afr v & wmr fe o, afts

waa W A, e v @
(A) 4fem
(B}«i*;-ﬁ‘l
(C) 4-:-1’&3
@) 5R=
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Q97 Find the area of a square whose diagonal is

Q98

Q99

10m long.
(A) 10m?
(B) 50m?
(C) 100m?
(D) 110m?

Solve the following.

(1 —-sin’g)sec’g =
(A) O

B) 1

(C) sing

(D) cosg

Find the range of the following data.

32,45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(C) 53
(D) 54

Q100 What was the name of the first spacecraft

launched by India in 19757
(A) Bhaskar

(B) Aryabhata

(C) APPLE

(D) Rohini

Q101 What isthe total route length of the proposed

Eastern Dedicated Freight Corridor?
(A) 1556km
(B) 1656km
(€) 1756km
(D) 1856km

LM-D
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Q97

Q98

it forwd e & oad om e
THST 8BS T Y|

(A) 10m?

(B) s0m?

(C) 100m?

(D) 110m*

Fr=fafm = g3 a4

(1 -sin*g@)sectg =
(A) 0

B) 1

(C) sng

(D) cosg

Frifafaa ser & @ s &3

32,45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(C) 53
(D) 54

Q100 1975 % wra gwr df= by U wsa

Jafter g @1 s w= ar
(A) WIEHR
(B) amhrg
(C) Twa
(D) wfgdh

Q101 wwnfaw g waflfer e SRR i dard

fsrh &2

(A) 1556km
(B) 1656km
(C) 1756km
(D) 1856km
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Q102 Which ofthe following missiles developed
by DRDO is an air-to-air missile?
(A) Prahar
(B) Shaurya
(C) Astra
(D) Prithvilll

Q103 Deficiency of which vitamin causes rickets?
(A) VitaminD
(B) VitaminB
(C) VitaminE
(D) VitaminA

Q104 Which of the following discases occurs due
to the deficiency of proteins?
(A) Goitre
(B) Kwashiorkor
(C) Anaemia
(D) Bronchitis

Q105 Which of the following diseases can be cured
by increasing intake of citrus fruits?
(A) Pellagra
(B) Blindness
(C) Scurvy
(D) Osteoporosis

Q106 Which ofthe following statements is TRUE
about the process of evaporation?
(A) Liquid state is changed to solid state.
(B) Gaseous state ischanged to liquid state.
(C) Solid state is changed to liquid state.
(D) Liquid state is changed to gaseous
state.

LM-D
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Q102 proo &R fsfa Prafafa § @ @9
W Prama ga & g4 AR B Al
v g 7
(A) WBR
(B) o
(C) e

(D) 9o 1

Q103 Prfafan 4 9 fra Refis & &0 9
Raew @ Hurd o 87
(A) faefd= D
B) fa=fim B
(C) f=fmE
(D) faefism A

Q104 W& & T & sro Freafafea 4 9
= @ frd aeh 22
(A) Mg
(B) Fmfeivsi
(C) wfoan
(D) Wiwfea

Q105 @2 Tl 3 ¥aa 7 a9 A Frefafaa
i & o @ frd S o v &2
(A) Y&
(B) afEra=
(C) wwdl
(D) sifffeaf

Q106 amfiavr & ufism @ an A Frafafaa
# @ o W wem W) &7
(A) T Hawe, S e | qEd @

#
(B) e srawen, wa srawen # qgd W

g
(C) o arawey, §a ey # qga Wi

L4
(D) wa smveq, Mg s § qga R

2
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Q107 Which of the following hasresultedinthe Q107 fr=ifaiftra % & frud sRomrasy A

deterioration of water quality? & o § fivee ard &2
(A) Improper disposal of sewage (A) 2 ot &1 w8 |§ fger | wwn
(B) Deforestation (B) @t & FerE
(C) Incorrect distribution of water (C) Srat HamEt &1 Tera fRBeww
resources (D) sufers e
(D) Owverpopulation
Q108 The Sl unit of stress is: Q108 9ffvaa (stress) 3 S g1 war &7
(A) joule (A) V=
(B) pascal (B) wrpd
(C) wolt (C) =
(D) watt (D) 3=

Q109 Name the instrument used to measure Q109 Fr=ifafam & & g @3 &1 sug

absorbed or evolved heat. sauifia a1 RAafa So1 (heat) ) w19
(A) Ceilometer & forg fsar wmar 82
(B) Colorimeter (A) Rrenires
(C) Calorimeter (B) #renffrex
(D) Clinometer = (C) derdrier
% (D) frerfey

Q110 Name the force that binds protons and Q110 (& Tf® # Wieh alk =t & @i

neutrons in a nucleus. e T B T FEa &7
(A) Electromagnetic force (A) Rgga gada 7w
(B) Weak nuclear force (B) gdw i aw
(C) Gravitational force (C) ToamEdo &
(D) Strong nuclear force (D) wae HaT aa
Q111 Protium, deuterium and tritium are: Q111 wifegm, sg2Raw aiv fefeaw #)
(A) isotopes fPrfefas & @ Rt 9t 4 war mr
(B) isobars .14
(C) isomers (A) sngsie
(D) isochors (B) IgHAR
(C) g
(D) IR
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Q112 Which ofthe following gases is necessary
for combustion?
(A) Hydrogen
(B) Carbon monoxide
(C) Oxygen
(D) Methane

Q113 Which of these values represents pH of an
alkaline solution?
(A) 5
B) 2
(C) 10
(D) 3

Q114 Which ofthese is sonorous?
(A) Wood
(B) Water
(C) Rubber
(D) lron

Q115 Select the water-soluble vitamin among the
following.
(A) VitaminsC
(B) VitaminK
(C) VitaminD
(D) VitaminA

LM-D
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Q112 =&+ & fay Frafafoma 4 & &= @
o amws &7
(A) ETERIS
(B) T HiifaTgs
(C) Siiaeirr
(D) e

Q113 f=fafaa # & o9 W wF 1@ Y
e @ pH w1 wfFifa v &7
(A) 5
®) 2
(C) 10
D) 3

Q114 Fr=fafaa 3 A @ & vared @ arfie
(sunomus}qi'lﬂﬁ?
(A) THE
B) i
(C) ™R
(D) et

Q115 Frafafla #3 2w w1 1 wa A gomdiel
faerfim 27
(A) fefmC
B) fFEfmK
(C) =D
(D) faefmA
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Q116 Rimjhim’s physician advises her to avoid

consuming a diet high in saturated fats. If
Rimjhim does not follow her doctor’s
advice, she can be at a risk of?

(A) kidney disease

(B) cardiovascular disease

(C) anaemia

(D) pancreatic disorder

Q117 Which of the following is a major source of

phosphorus?
(A) Potato
(B) Amia
(C) Orange
(D) Milk

Q118 What is the false feet with which amoeba

ingests its food called?
(A) Axopodia

(B) Pscudopodia
(C) Filopodia

(D) Reticulopodia

Q119 In our body, where does 90% of our total

nutrient and mineral absorption take place?
(A) Kidney

(B) Large intestine

(C) Stomach

(D) Smallintestine
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Ql16 fuf¥m & Rfeess 3 99 wgw aw

(gt Be) o wio o1 IRe W A
®e B waw @ ) afy Relm o
fafres & wome @1 arem T8 aed
o 99 Prafefea § 9 Gwsr o 8
e &7

() ¢ B dmrd

(B) &=a A7

(C) vemegen

(D) I=amm (Wfemies) fer

Q117 Fr=fafes 4 | 9% o ofra o1 @

Wi i 87
(A) sire
(B) affaen
(C) ¥
(D) q&

Q118 Frafafim # 9 2 w1 & e (false

feet) & fForet arftar arg= i &1 e
#?

(A) TaEmE

(B) W=

(C) Mraifea

D) Wegsrifm

Q119 &9k iR # #N T dvd T v

Wl s &1 90% v ®E s
8?
(A) 755
(B) &
(C) s
(D) &Y ara
SERIES-D-E




Q120 Which among the following is referred to as
nearsightedness?
(A) Hypermetropia
(B) Hyperopia
(C) Myopia
(D) Astigmatism

Q121 Whodiscovered the X-rays?
(A) GalileoGalilei
(B) JJ Thomson
(C) EdwinHubble
(D) WK Roentgen

Q122 What is the Sl unit of time?
(A) Hour
(B) Second
(C) Minute
(D) Millisecond

Q123 Proteins are one of the
that provide calories.
(A) four
(B) three
(C) two
(D) five

nutrients

Q124 is also known as cobalamin,
(A) VitaminB12
(B) Vitamin B3
(C) VitaminB7
(D) VitaminB9

LAZDRAEY

LM-D

Q120 el # & e free gfee &
w9 # W e 87
(A) ETgEvHRIO
(B) wEURIfmAT
(C) wranfian
(D) TReThfew

Q121 Ta-Y & & fua @ 7
(A) Haferat Afaeh
(B) wi.ui. e
(C) ¥=fa= saa
(D) 3=, &. e

Q122 wwa & Sl g&1g = &7
(A) Her
(B) W&
(©) fme
D) Freii®s

Q123 wéH, ares et A\ e #
ol B wEH & 8
(A) WR
B) @
(C) =
(D) dra

Q124 Fr=ifafaa # & s Saranfis & s
| 0 T e 82
(A) faerf®=B12
(B) fei@=Bs
(C) == B7
(D) faef@= B
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Q125 The greatest number that divides 59 and 54 Q125 98 wad 78 wEm oW W & foraw 59

with remainders 3 and 5 respectively is: AR 54 & Rraiforg @ v weer 3aiR 5
(A) 7 o qud €7
B) 3 (A) 7
(C) 5 (B) 3
(D) 8 (C) 5
D) 8

OZETZRg
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Q126

Q127

Q128

Q129

LM-D

SECTION-4| GENERAL HINDI | 25 QUESTIONS

Rrfaft 3 @ @ W Sl @
vaigard €7 287

(A) §98T

B) wefya

(C) %
(D) siforam

Frefafaa F @ @9 w o Rem—gm
T8 &7

(A) WRETER-gET

(B) ¥-fawm

(C) wwelp—fade

(D) wife-afe

Thaosh e suforg s &
wed & I—Raa wr= # Frafafas 4§ @
B U I

(A) w=for

(B) @l

(C) wweh

(D) @i

o @ I G AT T e A @
foe v e Frafafaa & @ @ gm?
(A) aEwa

(B) T

(C) a®id

(D) wew™

(OZESLES

QI30

Qi3l

Q132

Q133

Pr=iferftaa A @ 9 w e Efe 87

(A) heumy

(B) ¥«
(C) ©n
(D) @erel

gl | e o g W e - e
WHR ST qa 87

(A) TemaTas

(B) waeraras

(C) wawaras

(D) FeomErEs

Prefaftea 4 9 2 W aea agg &7
(A) & s Sus fa ard an
B) O v A 3w dw A arh
(€) % 3t % daw af s #)
(D) # ams ge= o o §

‘To e & fam st gemes 9+

(A) o@@R AT
(B) wed e

(C) &l & &= s
(D) <far are 9 S
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Q134

Q135

Q136

LM-D

Be-8e = 8 wrr— @ fae afem
v o |

(A) OF @ O & gw S@r

(B) 81 @ UTIe 18 w0 & ared
(C) T &1 §8 9+ &1 g

(D) 7 @& o, # yr—ara

Frafaftaa % € 29 @ v sl
o T &

(A) o & arh

(B) wr a2

(C) wforr

(D) TET TS

8 wfta A 4fier @ das o=
&

(A) ¥HEE ae

B) 3 AR

(C) wumdiwene fRad

(D) i ww

41

QI37 ‘s A Rrw aymiw & Rafi §

87

(A) =R
(B) @ ArTed
(C) e

(D) #ras

el v R e @ Rw o
H feran war?

(A) anfemra

(B) Wi

(C) vt

(D) Img® T

Ffafea amed #1 saga difow
v - Ry 0 weEt (we W 139 -

141) @ ¥R ¥

I W WY TR e o &)
R, gufoa 1 g2v w9 § a0 w4,
€ W wHw w9 A S v, fRuw
a1 fafes w9 4 ok ot su & svm @
WER WY 4| o= R I g owe
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9 W w4 4 o g 8, wify ows
IR T HROT AT W a7,
afes forvameed gra wfdfisa amn &)
W dac WEeA W W @ -,
frgw aiv Moe gawd gie # &
et R ovd &, 3 Rl @ Airfersg
g1 & wer o Fae gEmIERe
fagrfea avean mgeaTs, s R

faffiray | g srawam & wiw ofy

A g Arewiia @ da
e A Rrermern, weran afy e

& 39 B39 @ forg o uw & & neda
¢ w2 Wge W weed Ad | WPy B
WHIERY, N §9 WER & w9l B
W gt W & Wi afa
frea & Rod 4 @ oRYl A e
v A o aftrer Wil awgelt @
HATT—INAT Teerd Baa g o gfe
¥ foan & | ey e A ehlg-agn wtere
fersror s &, 7 Wty ) i wufsf
@1 Aax 8|

Q139 Tudam eriw B oy after e gy |

Q140

(A) uq;ﬁﬁvﬂﬁu
(B) ®R IR Pl
(C) wear ®fa

(D) vl &1 Wil

TUERT TN & MR YR TaEy B

UHi & AERY, JAHRT T IR P

WOl B @ a1 200 o B 3wH B

e &2

(A) way v 4

(8) o Yo A

(C) Mod wa & wfal 4

(D) ar=hfE, S, st genfa
Hepa & e siagl |
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Q41 I TEiw H1 wEgvr #ifde |

(A) o= B @ geu vl & wh
w0 # o g B, w®fp wwe
VT T RO ST W FewivT
T8, 3w favemewd g1 wifsn
e R

(B) W @ad yammraiey figifea
TR Ao, sid e
iR & fid s @ mie
T @ 9 g devieRer $
da Rt v @ R,
wegan 3R Rt 4 § v gea
@ fov T o & & el
e WIgS 91 "EEy T |

(C) wpftr & <1 W & v& Hav, gow
| = S W gea 9 A
wier 81 fbg o wofa @ aEd
Wigd @1 999 yuE IEa
EHEHTAT B 9qUIeT BN @
T, aF o T8 &) el B w=
WUl 1 fermor e @ Wil wft
W e &) weig wrel A e
Wi avi gan &)

(D) Rod @ & il 3 g v
A o aRew wple awpl @
FAT-HAT Ieord Bad IEUA B
gfte ¥ fom &) waw vae o
eligr-aga wi¥ere fomor famn 8,
TE WP @ frdm wufngfy
day &)

.1

6938
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Q142

Q143

Ql44

Q145

TER T G qETR @ 6 o g |
(A) e g3y

(B) Ramd guah

(©) Fehrawg

(D) T woeT

WA T @ BT A A9 Sl g8
I @A @ o s @ o
forar | ww@1 a8 v R &l # s
(A) Pz o

(B) andes 9=

(€) =mmwfs v3

(D) @iR® g3

wiay ardw § aREd a1 ey
s W g aner?

(A) ﬁ'ﬂ‘miﬁ'\'

(B) T af 3

(€C) FW =fEh ax

(D) & ard sl

& wt @1 wftevor o oft @ v @
HER 9 & s @ o Pt i
W B 61 e gu sita € amem?
(A) 3w w@w
B) W4 W

(C) wva W

(D) faga wr
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Q146 Prefafam # @ wids af #7 @ 8
(A) I

B) @

Q147 wee' W # @ w1 Sul &7
(A) W
®) wf
(C) =

D) ¥

Q148 ‘tow w& ¥ ¥ W W &7
(A)
B) %
(C) 5%

D) *

LM-D

Q149

Q150

i

sk B T @A @ N & - T
# Ya@ifa T f5a R F1 I
87

(A) ToETHS

(B) HEaEATES

(C) T

D) uREvENES

wa wal ¢ b wara Y SO &
<o i # wgw o & a@ gl s
a1 TEann 87

(A) wEms s

B) T fsr

(€) Wit v

D) Fifas
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Read the following Instructions carefully :

Frafafaa Fdal & am @ w2 -

1.

Out of the four alternatives for each question, only
one circle for the correct answer is 1o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet, Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet,
Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Anendance
Sheet.

Each candidate must show on demand his / her Admit
Card o the Invigilator

No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seal

. The candidates should not leave the Examination Hall

withoul handing over their Answer Sheet 1o the
Invigilatoron duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

Use of Pencil/Electronic/Manual Calculator is
prohibited.

. The candidates are governed by all Rules and

Regulations of the Commission with regard (o their
conduct in the Examination Hall, All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission,

10. After Examination is over, candidate has to return his

Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall,
Candidate is only allowed 1o take Candidate’s copy of
answer sheet,

« Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the
Invigilator after the exam.

LEUGCILS o,

10. 99081 & Ty aparell SOY USE w6 e

1. 7 0mr @ Suxia whemefl ®) ohan gRas

. G

, T T AOES B AT IR 9IS 120

. e/ geesite / swaafen WReas &
. T wfe A amerer @ forg ofemdl s @

Te wE & for Ry 7 ar e 4 |
el Ot @ o o . AN IR Ee W
Fael U@ Ml B 8 O (e F 9 dige
0 ¥ W) vF IR 9o ifea e aF @
g TN JLAT A6 W wem &)
qdemdl gif¥en a¥ &1 oW o @1 A
q WY Ud 99 W D8 30 e T gl
gEmedl A e IR aEe A Peifta
wi @ afofes s=ra 7 ford |
U4 IR UHAS &I
T &, wuife S A oRfefs § @aa
e gt § H0 3 818 ) TEh aden
YRa®T T 9TR USS SUdE T8 SNl
i e & 4 0w g

L1 A
& Handi wf i A oulRefy o=
fored )

Up W Wy gdend], s srodee @)
3T WAy vEs R |

il AT e w6 fady agEfy @
faem o el s wne T B

e gl sger s 9é e ofy
e vdemefl 3 SuRef vaa W swRR
T8 fby ot 78 wFr oo @ 99 I
=S 16 e 8 Al g% arfaa e
AT WA ST |

augrr afofa &1

m&wummﬁm%wﬁn
arFEl @ il wmel & B @
frt v RfYast & sgar gy

B diel €| s=reEE g el & 9w
T=w B anaedfl ufdy /et ufty swro s
el our fras e § $5 $ sie A
FgEf & e | o yEe @ apad ufYy
araell @ A W A W W ey #)

o8 yaded $ wter s ofm
qRas1 &1 vherefl su @ 98 @
a1 ged &
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